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2 B Kk O R
B MR
X R L AT AT K B NEE L ST
T f& i H G T 2V ¥ OB | B
SR T
Bt T
EEETUE T
ESEDINT t=3~4cm BEHFEESR = 88.20 88. 00
m
SEEERF A ASA t=3~4cem | BEEHEERIR = 714.41 714. 00
m2
FEMTEW: A s BEHFEESR = 25.25 25.00
L=5. 3km (6. 5kmLAN) m3
WLy 25.25%2.3/1.8 = 32.26 32. 30
A s % m3
HOBE R T =
FEMZE t=3cm BEHAEESR = 81.23 81. 00
m2
AR BEHFEESR = 7.23 7. 00
PP EYT | m2
RO EE AR E T 2.44+2. 17 =  4.61 5. 00
L=2. 5km m3
e = 4.61 5. 00
s ANHh m3
T ) S B T
C o &Y HuE BEHAFEESR = 1.69 2. 00
R m3
C o &Y HuE BEHAFEESR = 10.95 11. 00
I C o m3
FERFEHE  L=5. 3km (5. 5kmEAN) =  1.69 2.00
—RELE, | m3
FERFEHE  L=5. 3km (5. 5kmEAN) = 10.95 11.00
I C o m3
~ U VEMBEAE | HMEHEESR = 1.00 1. 00
L=5. 7km (9kmLAN) 1[A]  274. 5kg E
RLs5 % 1.69%2.5/1.8 = 2.35 2. 40
TR, m3
RLG5 % 10. 95%2. 35/1. 8 = 14.30 14. 30
I C o m3
VU ¢ 274. 5kg = 0.27 0.27
| t
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o B B B R
By Y
X R L AT AT K B NEEL L ST
T fi k] H g T =\ B & |[HAL
E T
+T
R e | T TEHEESR = 551.50 550. 00
m3
AR B PO. 0+7% 75 [ +BF+BOX = 21.10 21.00
5. 0+8. 4+4. 9+2. 8 m3
MR L T TEHEEPLFE O+BF+BOX = 61. 72 62. 00
52. 9+4. 5+2. 8+1. 52 m3
BRI L + THFHHEELPO. 0 = 42.10 42. 00
IZR SRS 21.0+20. 1+1. 0 m3
BANEA RC-40 42.1%1. 2 = 50.52 51. 00
SR IR AS m3
TS EN %1 (551.5+21.1)-61.72/0.9 = 504.02 500. 00
&P L=2. 5km m3
¥Rt N D E Hh = 504.02 500. 00
m3
FmFEIE 113. 7+1. 68+1. 68+5. 16+3. 04+ = 220. 96 221.00
5. 16+4. 91+23. 69+50. 34+11. 28+0. 32 m2
sINRIZK S T
A7 T
H A B BEHFEESR = 103.50 103. 50
300%300 m
H A B BEHFEESR = 30.00 30. 00
300%400 m
H A B BEHAEESR = 22.00 22.00
300%500 m
X |FEREREA RC-40 0. 67*0. 1%155. 5 = 10.42 10. 42
t=10cm (% 10m3490.67m3) m3
| FeAfEav ) - 18-8-25BB 0. 57%0. 05%155. 5 = 4.43 4.43
(2% 10m490.29m3) m3
SN =bayy)-p  18-8-25BB  [0. 3%0. 05%155. 5 = 2.33 2.33
(2% 10m490.15m3) m3
/N =hayp)-b  18-8-25BB | (1.55+0. 68+0. 5+0. 12)-2.33 = 0. 52 0.52
fi e oEt B m3
HHEAEMAEH Co: = 126.00 126. 00
H3E 3007 0. 5m b
HHEAERNER 7 v-T) & = 15.00 15. 00
HIE 3007 1. 0m T-25 b
H A R H = 8.00 8. 00
300%300 m
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BB AR

X R L AT AT K B NEEL L ST
T fi A H 7t T =\ o o& | AT
X\ FEAEMEA RC-40 0. 67%0. 15%8. 0 =  0.80 0. 80
t=15cm (% 10m%4bv1.00m3) m3

| FeAfEav ) - 18-8-25BB 0. 57%0. 1%8. 0 = 0.46 0. 46
(2% 10m¥4 v 0.57m3) m3

S (fvnT=bays)=F  18-8-25BB  [0. 3%0. 05%8. 0 = 0.12 0.12
(2% 10m%4 V0. 15m3) m3

HHEAERNER 7 v-F) & = 4.00 4. 00
RET AR B E300%L 1. 0m T-25 K

H B AEANE R = 6.20 6. 20
300%400 m

X|FEAEMEA RC-40 0. 67%0. 15%6. 2 = 0.62 0.62
t=15cm (% 10m%4bv1.00m3) m3

| FeAfEav ) - 18-8-25BB 0. 57%0. 1%6. 2 =  0.35 0.35
(2% 10m¥4 v 0.57m3) m3

e (fvn"=bayy)=F  18-8-25BB  [0. 3%0. 05%14. 2 = 0.21 0.21
(2% 10m%4 V0. 15m3) m3

/N =bay))—h  18-8-25BB (0. 21-0. 14 = 0.07 0. 07
ffi e yEt B m3

HHEAEAER 7 v-T) & = 3.00 3. 00
REMT AR B E300%L 1. 0m T-25 K

ﬁH7J<Ft%Bﬁzﬂ%|<I (P13.0)
BEAFEE /Kt fi& T

AT BEHFEESR = 6.42 6. 40
/NS S m2

2/))-MTE%  18-8-25BB HEFEESR = 0.67 0. 67
/NG S m3

V=) EFE 700%700 4 = 1.00 1.00
Pl T-25  2fcE| e

MAGEEAED L

S =gui| = 1.00 1. 00
A800-950-1000 HH

S gui| = 1.00 1. 00
B800-950-700 HH

WA B2 =3. 2 1# [BeEEIEE5m = 30.02 30. 00
77 s Bl L k g

X|FEREREA RC-40 BEHAEESR = 1.68 1.70
t=15cm (%0. 25m3) m2

Feffas))-1 18-8-25BB BEHFEESR = 0.14 0. 14
m3

g BEHFEESR = 0.48 0. 50
m2
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2 B Kk R
B MR
X R L AT AT K B NEEL L ST
T fE | i E B i X O WL
Jr7Kk B L =
537K A = .00 1. 00
800800800 He
MM RC-40 BEHAEESR = .12 1. 10
t=10cm (2%0.11m3) m2
AN =bayp)—-)  18-8-25BB  [Kk EE}E £ SR = .03 0.03
m3
HEZKIEE T
RyF 7Y a—h 5004 = . 00 8. 00
m
S| RC-40 BEHAEESR = .52 0.52
t=10cm (% 10m490.65m3) m3
e 2L 13 BEHAEESR = .12 0.12
t=3cm (% 10m%90.15m3) m3
Ry 7 AT NR— |k = . 00 4. 00
400%400 m
LM RC-40 BEHAEESR = .46 0. 46
t=15cm (% 10m%4 v 1.14m3) m3
| JLftEa ) -} 18-8-25BB BEHAEESR = .26 0.26
(2% 10m%4 v 0.66m3) m3
e 2L 13 BEHAEESR = .04 0. 04
t=2cm (% 10m%90.11m3) m3
KT
KT
ALK = .00 1.00
700%700%700 He
Ml U — TR BEHAEESR = .45 0. 45
18-8-25BB m3
|\ AR BEHAEESR = .94 4.94
m2
MM RC-40 BEHAEESR = .18 0.18
t=15cm m3
TL—F T T-25 HEEEESR = .00 1.00
e 7007000 2KE| e
B4E /Kt = .00 1.00
600600500 He
a7 U — MTR BEHAEESR = .30 0. 30
18-8-25BB m3
|\l AU BEHAEESR = .21 3.21
m2
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578

BB AR

X R L AT AT K B NEEL L ST
T fE k] H 7t T = B & |[HAL
S| RC-40 BEHAEESR = 0.15 0.15
t=15cm m3
TV —F o TE T-25 = 1.00 1. 00
ZPedt 600%600 e
CHE/K Mt = 1.00 1.00
600600600 He
#lar 7 U — MT% BEHAEESR = 0.33 0.33
18-8-25BB m3
X|l| AU HEREESR = 3.68 3.68
m2
S|HEREEA RC-40 BEHAEESR = 0.15 0.15
t=15cm m3
TL—F T T-25 HEEEESR = 1.00 1.00
ZPedt 600%600 e
D 7K ik = 1.00 1.00
600%1300%500 He
a7 U — MT% BEHAEESR = 0.48 0. 48
18-8-25BB m3
|\l AU BEHAEESR = 4.64 4. 64
m2
LM RC-40 BEHAEESR = 0.26 0. 26
t=15cm m3
TL—F T T-25 HEEEESR = 2.00 2. 00
ZPedt 600%600 e
/NRUERE T
m@%%z
1 5HERET W200%
L=11.5m HHikF 11557
av 7 U — MNTRR BEHAEESR = b5.15 5.15
18-8-40BB m3
|\l AR BEHAEESR = 26.45 26. 50
m2
MM RC-40 BEHAEESR = 1.03 1.03
t=15cm m3
2 SHERET W2007%Y
1=13.8m HHikF 11557
a7 U — TR WEHAEESR = 1.93 1.93
18-8-40BB m3
|\l AR BEHAEESR = 14.36 14. 40
m2
LM RC-40 BEHAEESR = 0.93 0.93
t=15cm m3
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2 B Kk R
B MR
X R L AT AT K B NEEL L ST
T fE i H G T 2V ¥ & | AL
3 SHERET W2007HY
L=11.5m HHikF2f& T
av 7 Y — MNTRR BEHAEESR = 3.84 3.84
18-8-40BB m3
|| A BEHAEESR = 27.14 27.14
m2
S| RC-40 BEHAEESR = 1.59 1. 59
t=15cm m3
E A R R T
fxa L
BEEEE R 0y) PLY v & —) [ EEE RS = 107.10 107. 10
MR—B 200-200-150 m
| FEEMEE RC-40 HEREESR =  5.03 5. 00
t=10cm (% 10m490.47m3) m3
e 2L 13 BEHAEESR = 0.90 0. 90
t=3cm (% 10m%90.08m3) m3
WEER 7 v/ B BEHAEESR = 45.10 45. 10
omid L ER E A (BEA -1360cm) m
MM RC-40 BEHAEESR = 1.13 1.13
t=10cm (% 10m490.25m3) m3
| FeAfEav ) - 18-8-25BB WEHEESR = 0.92 0.92
(2% 10m%4 v 0.21m3) m3
5| BEHAEESR = 9.02 9.02
/NEUAE ) m2
LAligk 1T
H— R L — LR BEHFEESR = 17.00 17. 00
Gr-C—4E —#BR2ih m
FEWTBA IR P9 BEHFEESR = 2.00 2. 00
TP-8P2-20W m
LM RC-40 BEHFEESR = 0.03 0. 03
t=10cm m3
| JLftEa ) -} 18-8-25BB BEHAEESR = 0.07 0. 07
m3
% | H A BEHFEESR = 0.96 0. 96
A m2
Xv R 7= A HL.2m |[BeEEHEESR = 11.50 11. 50
) -MaEEA (15 BEE) m
X R R T = 2.00 2.00
m
1| (B-74)  Wibem |BEEEESR = 110.20 110. 20
R IVE m
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il
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BB AR

X R L AT AT K B NEEL L ST
T f& il H 7t L 2V ¥ OB | B
3 1 [AMEIKR Wi5cm BEHAEESR = 194.80 194. 80
R IVE m
X2 MEIREEERE W30em L2. 75m [ B &S B ES =  5.50 5. 50
Wt 2f& AT m
¥ 3[1EFEH Wibem BEHAEESR = 37.28 37. 30
Wt 2f& AT m
X4 EEE (B7F)  Wibem |[BEEEESR = 21.30 21. 30
IR m
X R AR (1 - 57 D) %1 = 607.00 607. 00
~A > FA Wibem m
DX R AR B (BB D ) %1 = 305. 00 305. 00
~A 2 FA Wibem m
X IR AR (1 - 57 D) %2 = 11.00 11. 00
= W30em m
DX R AR B (BB D ) %2 = 6.00 6. 00
= W30em m
X R AR I (1 - 57 D) %3 = 74.00 74. 00
RS Wibem#fa A m
DX R AR B (BB 0D ) %3 = 37.00 37. 00
=S Wibem#fa A m
X R AR I (1 - 57 D) %4 = 42.00 42. 00
RS WAbem#fa A m
DX R AR (B (BB D ) %4 = 21.00 21. 00
RS WALem#fa A m
BT
AR bUeRE L BEHAEESR = 6.00 6. 00
C o3 (Gkadh) %N
< AR— VAT
< U VERE I K9enb) T = 2.00 2.00
(FAEEaV7 ny ) Bk et R BN BEX5) L
%EP%EIl
FehR/A T (E5)
JerpsggE At =
A ) m3
FhRAE MREL =
A ) m3
JerpsggE A =
/N TEY) m3
FhRAE MREL =
/N TE ) m3
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o B B B R
By Y
X R L AT AT K B NEEL L ST
T fi A H i B & |[HAL
EhLE T
OB T
W6. 05~24. 0m
KA T RC-40 BEHAEESR 709. 50 710. 00
t=33cm 2/@LL AL T W6. 05~24. Om m?2
AR T M-25 BEHAEESR 709. 50 710. 00
t=10cm m2
BT FAEBRIEAs20F (BEFHAESH 709. 50 710. 00
t=5cm m2
HoE ik T
Wl.2~2.4m
T KA T RC-40 BEHFEESR 114. 10 114. 00
t=16em 2/8LL BfE BT m2
FERET M-25 WEFEESR 114. 10 114. 00
t=10cm m2
FEL BABREASIF |BEFHFEESR 114. 10 114. 00
t=3cm m2
BEEGEAE T
W0. 5m
FERET M-25 X 2 IR 22.45 22.00
t=10cm m2
FET BABREASISF |(XEEHE 22. 00 22.00
t=3cm m2
gy
RIEFEE B
]38 6 75 HR AL 76 e i A 3T Jit TIRf A+ H




%%%Eﬁi%% R RE
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%ﬁ il A Bl O & =\ priE | A7 | FE [
T
o 2 T $E7277}H‘ ﬁcl: D
iz t=4cm [P0 10.6+5.2 EP 3.5+3.8 m 23.10
t =3cm )
\ 3 =]
@t@ifgi% m | 20.30
i m 88. 20
AEERR EREEE N IE TR = | 382 61
Jipe:] t =4cm |374. 21+5. 60+2. 80 :
JAREEYS (XL Y 2 | 268,71
t =3cm )
NG BRSNS o 63. 09
t =3cm )
7 m | 714.41
ERTERR TR U | |382.61X0. 04 3 15,30
T - ALy t =4cm |374. 21+5. 60+2. 80 .
JAEFHS [268.71X0. 03 m3 3. 06
t =3cm )
\ 3 =]
Lt@ifgitﬁ 63.09x0. 03 3 | 89
&t m3 25. 25




o7 ) — MG %@%I o=

|}

p=((}

+

e HO L ISR ENAEE -
W 1EY)
U T
BB |82 A AR E R 5 81 23
BrEt=3cm |XiE LY 43.78+37.45 m :
81.23X0.03 o3 5 14
7.23%X0. 3 o3 5 17
a7 )—hr
WiEEUE | $kipavs)-h
= Y il =
0. 0FF3r :ﬂ/tzimg@goo—;oz ;}%{%er% 033;}2{%?08;3.%;) m3 0.99
47. 0L f5IE jf%%ﬁﬁd””? EEE Y m3 0.28
e [2v7)-b kB 165ke /2m =82. bke/m (2.4t)
13. OR AT |70 7 e 990, 5ke/m < 2400ke,” m3 X 2. 0m=0. 07m3 m3 0.07
2t | m3 1. 69
) -
OpErEREE L HE LY m3 6. 61
QpEEERE L HE LY m3 0.55
15k EE L m3 0.24
25 MR L Sk b m3 0.16
3R L S kb m3 0.34
A5 PEEEE L S kb m3 0.16
55k L S kb m3 0.34
AALEBS m3 2. 00
%ME&E}ZL XX v (PO. 0~P8. 0/5) ’
JK ik
HUgE L P13. OBE/FHE — ERIRUE L m3 | 0.55
H m3 10.95
B~ k% | FREE D500/ 290 1FLY D 34kg kg 68. 00
e :
2 1] 7] 7o
ok EL ©600/0 2fH 1435 U 43kg ke 26,00
2 1] 7] 7o
ok EL  ® 650/ 1L 1yH5 U 48kg ke 18,00
LK) V—F/)T 2700 X700 N B—
s P13. OBE{F Mt 8 :
2 kg | 274.50




+ T N = = Noil
il s | Ei Hil HERAREAHERE B HERIRAHERE Bl

o OBE | WrmAE oYy | R M| Wi ooy [ R || Wi ¥y R H

0. 00 12.0 0.2 0.2
8. 00 8. 00 6.0 9. 00 72.0 0.2 0. 20 1.6 0.3 0.25 2.0
13. 00 5. 00 7.3 6. 65 33.3 0.2 0. 20 1.0 0.2 0.25 1.3
19. 00 6. 00 7.5 7.40 44. 4 0.2 0. 20 1.2 0.3 0.25 1.5
22. 00 3. 00 5.9 6.70 20. 1 0.2 0. 20 0.6 0.3 0.30 0.9
35. 00 13. 00 4.5 5.20 67.6 0.2 0. 20 2.6 0.4 0.35 4.6
46. 00 11. 00 5.7 5.10 56. 1 0.2 0. 20 2.2 0.3 0.35 3.9
60. 00 14. 00 4.7 5.20 72.8 0.3 0.25 3.5 0.1 0. 20 2.8
75. 00 15. 00 5.0 4. 85 72.8 0.3 0. 30 4.5 0.1 0.10 1.5
88. 00 13. 00 5.2 5.10 66. 3 0.2 0.25 3.3 0.1 0. 10 1.3
90. 60 2. 60 5.2 5. 20 13.5 0.2 0. 20 0.5 0.1 0.10 0.3
90. 60 0. 00 7.4 6. 30 0.0 0.0 0.10 0.0 0.0 0.05 0.0
93. 10 2.50 7.4 7. 40 18.5 0.0 0. 00 0.0 0.0 0. 00 0.0
95. 00 1. 90 7.4 7.40 14. 1 0.0 0. 00 0.0 0.0 0. 00 0.0
At 95. 00 Al 551.5 aEt 21.0 X 20. 1




+ T N = = No2
. } R B2 RN IE
a TR | Wil A I IS | 1) o 5
0. 00 0.2 25.0
8. 00 8. 00 1.2 0. 70 5.6 6.7 15. 85 126. 80
13. 00 5. 00 0.9 1.05 5.3 6.2 6. 45 32.25
19. 00 6. 00 0.8 0.85 5.1 6.2 6. 20 37. 20
22. 00 3. 00 0.6 0.70 2.1 5.6 5. 90 17.70
35. 00 13. 00 0.5 0.55 7.2 5.6 5. 60 72. 80
46. 00 11. 00 0.6 0. 55 6.1 5.6 5. 60 61. 60
47.00 1. 00 0.6 0. 60 0.6 5.6 5. 60 5. 60
47.00 0. 00 0.5 0. 55 0.0 5.9 5.75 0. 00
60. 00 13. 00 0.5 0. 50 6.5 5.9 5.90 76. 70
75. 00 15. 00 0.5 0. 50 7.5 5.9 5. 90 88. 50
88. 00 13. 00 0.4 0. 45 5.9 5.9 5.90 76. 70
90. 60 2. 60 0. 4 0. 40 1.0 5.9 5. 90 15. 34
90. 60 0. 00 0.0 0. 20 0.0 13.0 9.45 0. 00
93. 10 2.50 0.0 0. 00 0.0 15.9 14. 45 36. 13
95. 00 1. 90 0.0 0. 00 0.0 15.9 15.90 30. 21
At 95. 00 X 52.9 At 677.53




3 Ser. =] Ak
AT IEEHAE Mol
il By SIS X Ei] P& | AL #E | A
e | F FIARLOUNE [W300-H300 |72 0.0 - o0
HEWT
W300-H300 |/ 0.0~11.5 N 0 50
W300-H300 [/ 20.5~88.5 N 5. 00
W300-H300 A 20.7~34.7 R 00
W300-H300 A 79.7~89.7 R 0 00
= m 103. 50
on ka7
18-8-25BB 0.15=10X103.5 m3 1.55
HepEa s ) — |
18-8-25BB 0.29+10X103.5 m3 3.00
Ryt
1.00=-10X103.5 m2 | 10.35
FEERL RC40-0
2 .
t=10cm 6. 70 10X 103. 5 m 69. 35
FLmE IR
6.70-10% 103.5 m2 | 69.35
/) )-hEE W300H T-25 L1=499
ot i 103. 5-10. 0% 2 fio | 84.00
VAR YA W300 4 T-25 1=995
103.5%0. 1 o | 10.00
A B AEME (W300-H400 [/A£ 11.5~19.5 N 5 00
TEWT .
A 34.7~56.7 N Y. 00
= m 30. 00
AN =pav )y —p Xm & . 068
18-8-25BB 0. 18+0. 495 :
HepEa s ) — | — .
18-8-25BB 0.29-10X30. 0 :
P
2 .
1.00=10X30. 0 m 3.00
FEERL RC40-0
2 .
t=10cn 6.70=-10%30. 0 m 20.10
FLmEEIE
2 .
6.70<10%30. 0 m2 | 20.10
1)) -1 W300 T-25 1=499
<ot 30. 0-3. 0% 2 fio | 24.00
VARV YA W300 4 T-25 1=995 i 3 00

30.0X0.1




(s T FEetEE No2
T =

FE Bl | g TEER] BE [
B B AEE [W300-H500 [ 56.7~78.719.5 = A
T m 22.00
AyN =pay )=} X &0
18-8-25BB m3 0. 50
WL 7 ) — R
18-8-25BB 0.29-10X22. 0 m3 0. 64
il

1.00+-10%22.0 m2 2.20
FEREAS RC40-0
t=10cm 6. 70 10X22. 0 m2 | 14.74
FmEIE
6. 7010 X22. 0 m2 | 14.74
/) )-hEg W300 1 T-25 1=499
i e H 22.0-2.0X2 54 18.00
V=T # |W300 4 T-25 1=995
92.0%0. 1 % 2.00
H A BRI [W300-H300 [4& 0.0
KT m 8. 00
fyn =}a77-
18-8-25BB 0.15-10X8.0 m3 0.12
WL 7 ) — R
18-8-25BB 0.57-10X8.0 m3 0. 46
Al
2.00=10X8. 0 m2 1.60
FEREAS RC40-0
t=15cm 6.70-10X8. 0 m2 5. 36
FmHEIE
\ 6. 70+ 10X8. 0 m2 [ 5.36
vt # |W300 4 T-25 1=995
FEMTH 8.0X0. 1 58 4. 00
B B AEE [W300-H400 [20. OREMTHIE
KT m 6. 20
fyn =}a77-
18-8-25BB i L v m3 0. 14
WL 7 ) — R
18-8-25BB TR m3 0.35
Al
FEREAS RC40-0
t=15cm it L v m2 4.15
FmHEIE
V=T # |W300 4
RN T-25 1=995 U5 3. 00




A N = R =
P13. OH/KKE FiamdtiAE Mol
I T WO X ii] SRR AR =
mm%&%z(m&m
BEf Kt f& T
Pinl] X Hi 2 PR
A B m?2 6. 42
/) =} [X| 1 2 fR
18-8-25BB m3 0. 67
7 V—For ks \
T-25 700XT00f] 2AEID 2 1.00
MEEHZED LT
K 92X 1.
AL 1L 214 m2 1.68
HREA 1.2X1.4 - o
RC40-0 t =15cm
biAl| C1+1.3) X2X0.
Tl (1. 1+1.3) X2x%0.1 . 018
Hepssayp)—p (1. 1X1.3X0.1
18-8-25BB m3 0. 14
= 11 A800 X 950 X 1000 i o0
= 11 AS00 X 950 X 700 " o0
fEsmbs | MBIAC a900Xb1050X 3.2  25. 32kg N L 00
1 T U L-30X30X3 0.8mX2 2.2%kg | '
T L-30X30X3 0.7m X2 1.9kg kg 30.02
BFE ¢13 140.3kgX 2 » 0.6kg
AyKk B L
K 06X 1.
Hmisg e [1.06X1.06 ) 1
HREA 1.06X1.06 - 1
RC40-0 t =10cm
AUn =} 0.8%0.8%0.05
3 .
/)Y -} 18-8-25BB m 0.03
IN 2/2 | 1S Ny 1] K
Ak 0 ay )= Z IR B
800 X 800 fH & 1.00




P13. ORI EE BEFITHEE No2
DS X

T ] M AL BE [
HEAKEE T
~ 2 — pidl]
VFT 2 [5007Y m 8. 00
FLrg Rt 0.645%0.1X8.0
RC40-0 t =10cm m3 0.52
FHHEEEvy 10.5X0.03X8.0 o 0 12
Ry 2sn— 1k 400 X400 o 4. 00
FLAgRr 0.76X0.15X4.0
RC40-0 t =15cm m3 0. 46
JLRE77-110. 66 X0. 1X4. 0
18-8-25BB m3 0. 26

eV 10.56X0. 02X 4.0 o 0 o1




A= R W=
SOk BaEEt R E No!
& Al Bl S X [ A | | BE | A
AE Kt
AL m2 | 1.21
FEWERS RC40-0 1. 1X1.1X0.15 sl o1s
t=15cm
T m2 | 4.94
ar7 J—h m3 | 0.45
18-8-25BB
PTv=Fo) | 2480
1. 00
T-25H 700X 70048 $Q
BEE /KA
AL m2 | 1.00
FEWERL RC40-0 1.0X1.0X0. 15 sl o1z
t=15cm
T m2 | 3.21
a7 Y—Fh m3 | 0.30
18-8-25BB
PTV=Fu) s \
1. 00
T-25H 600 X 600 A
CAE /K
AL m2 | 1.00
SEWERL RC40-0 1.0X1.0X0. 15 sl o1z
t=15cm
T m2 | 3.68
ar7 J—h m3 | 0.33
18-8-25BB
PTV=Fu) s \
1. 00
T-25H 600 X 6001 A
DAE /K
AL m2 | 1.70
FEWERS RC40-0 1.0X1.7X0.15 3l 0 96

t=15cm




Nef . L= | A
KM BEEAE No2
il A Bl & X il A | AL g | @A
T p m2 | 4.64
ar7J—h m3 | 0.48
18—-8—-25BB '
VAR VA A | 2.00

T-25H

600 X 600 FH
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FEHHEIE m2 | 6.89
FEHERF RC40-0 6.89X%0. 15 a 03
t=15cm X &
T m2 .45
X & 0
a7 J—k m3 .15
18-8-40BB X &Y
T xR /) =} B - m .50
H=1.2 A H Mimk (ks T~ )
/N ER ) 2 RE [W200 75
FLmEE e m2 .21
FEHERE RC40-0 6.21X0.15 a 93
t=15cm X &
TLpr m2 36
X & 0
27 J—F m3 | 1.93
18-8-40BB X &L Y
/N ER ) 2 RE [W200 75
FLmEE e m2 .59
FEWERS RC40-0 10. 59 X0. 15 a 59
t=15cm X &
T m2 14
X & v
27 )—F m3 | 3.84
18-8-40BB X &L Y




%%{Elikig %% No.1
7l T B X i AR
d%%iﬁf%ﬁ% iR-B 200-200-150 |2 0.0~91.0 o o1 50
JuavJ
A 0.0~7.5 - 1960
= m 107. 10
I x 7 0y [10miZ 1723 Fr=107 X 0. 6m=6m o 6. 00
BT 7w w2 |TFT X275 X0. 6m=8. 4m - 5 10
Fe A7 ny) [HRE3FTX3. 0m=9. 0m o 95 00
HA7 T X4, 0m=16. 0m :
200-200-150 | R B 447 6770
107. 10-6. 00-8. 40-25. 00= '
FLRA
3 .
t=10cm RC40  |0.47%0.1X107. 1 m 5. 03
K )L & L
3 .
1:03  |0.42x0.02%x107. 1 m 0.90
e | e R BFE & 47.0~90.0 R 5 10
Tay | 7ay s :
th . 25X 0. 1X45.
s b 0.25X0. 1X45. 1 . 1
t=10cm RC40-0
T P
2 .
9.0+ 10X 45. 1 m 9.02
N 1) — . X 0. 1-0. X 0. X 45,
a7 ) —k (0.25X%0. 1-0. 15X 0. 03) X45. 1 a 0. 99

18-8-25BB




AN =1 TR = RS s
TR « O T MErtEE Nol
i B ol O X i AL | BT BB |
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Gr—-C—4E
AT L4
FEH R
2 .
X L v m 0.32
FEERL RC40-0 0.4%0.4X0.1X2 i} 003
t=10cm
T P
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X L0 m 0.96
a7 U—}
3 0.07
18-8-25BB X £ Y m
PSR N7 B AT e L 00
TP-8P2-20W :
PEBEEOAl R v F 7 = v & |2y -} N 1150
H=1.2 A i L 0 :
I R T W15cm
S NAvEE (822428, 0 m ( 110.20
W15cm
SMAIHR N AvbED [102.0+92. 8 m [ 194.80
M10. 3m
. - R m 5. 50
s (At 2.75X2 _
ek E o [BRE B 18, 64 X 27 F7 - 27 98
1E AR RN '
P
Y i 21. 30
Y A X L0 m
BERT THEE FRE O H x 5 00
BN EEHHEAT Y)Y = ML '
~ U R— LR T
V- ViE &% (P44, 0, P47. 5 & 200




CIE N i

i - =y Ei B #h

BB 1] Fo¥) | m H
0. 00 24. 00

8. 00 8. 00 7.30 15. 65 125. 2
13. 00 5. 00 6. 80 7.05 35.3
19. 00 6. 00 6. 80 6. 80 40. 8
19. 00 0. 00 6. 05 6. 43 0.0
22. 00 3.00 6. 05 6. 05 18. 2
35. 00 13.00 6. 05 6. 05 78.7
46. 00 11. 00 6. 05 6. 05 66. 6
60. 00 14. 00 6. 05 6. 05 84.7
75. 00 15. 00 6. 05 6. 05 90. 8
88. 00 13.00 6. 05 6. 05 78.7
89. 00 1. 00 6. 05 6. 05 6.1
90. 50 1. 50 10. 00 8.03 12.0
90. 50 0. 00 13.50 11.75 0.0
92. 00 1. 50 15. 90 14. 70 22. 1
93.10 1. 10 15. 90 15. 90 17.5
94. 80 1. 70 15. 90 15.90 27.0
2t 94. 80 2 703.7
POZZ 7 s Al 518 10 5. 6+2. 8= 8.4
PO K KB 0.42X6.10= -2.6
Al 709.5




WM m M L No2
il = Hx 18 #h

Ak 1] 8y |

6. 00 1.35
8. 00 5.00 1. 35 1. 35 6.8
13. 00 5. 00 1.35 1.35 6.8
19. 00 6. 00 1. 35 1. 35 8.1
22. 00 3. 00 1.35 1.35 4.1
35. 00 13. 00 1. 35 1. 35 17.6
46. 00 11. 00 1.35 1.35 14.9
47.00 1. 00 1. 35 1. 35 1.4
47.00 0. 00 1.20 1.28 0.0
60. 00 13. 00 1. 20 1. 20 15. 6
75. 00 15. 00 1.20 1. 20 18.0
88. 00 13. 00 1. 20 1. 20 15. 6
89. 00 1. 00 2. 00 1. 60 1.6
89. 00 0. 00 2. 40 2.20 0.0
90. 50 1. 50 2. 40 2.40 3.6
Bt 87. 50 Al 114.1




REH-ERICERAL-EM

i 4 - 3R A # B # C # ER A A fi&
B fff E fff B {ff
RERE XE | RER® X8
%<9 114y

J

BH4EEE 300x300 L=2000 1{E% 315kg
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| B .|ﬂ

Jm
[
e
%g
M
| B .|ﬂ

o
Tl
Kia
=
b
S

Ao
Tl
Kia
=
b
S

BHSEAEE 300x400 L=2000 1A% 371kg s 2z
R 28 | RERN 28
BHSEAEE 300x500 L=2000 1{A% 428kg s 2z
R EE | RERN 28
HHAEAIE CoZE 300 L=500 1#EZH 41ke 22 M
R 28 | RERN 28
BHEAERAE 7' L-Fo0 2= T-25 L=1000 1L 23.8ke M 2z

e BB AE{AE 300%x300 L=2000 1{EX 475kg

Jm
[
Kia
o
b

WA B RAEAIE 4 L-FU9E T-25 L=1000 18

31kg

A ERAEEE 300x400 L=2000 1{A% 550kg

Jm Jm
T T
i i
I
i i
B & B oE I3 E
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- FRAE A ft B #t C #t e Yas L8 i
Ei Ei Ei
WERE
EKRMAIL—F T E 7005700 St T-25 24 E| m m
18y
WERE
ZEEOI A800-950-1000 1{EXY 722kg M M
WERE
%#EOLI b800-950-700 1{E %Y 1238kg M 2
WERE
k0 CE H800 1@l 540kg M M
BB EE | BENE EH
SR 3.2 1ty A A
BENE =R | BENE EH
RUFD1)a—L 5008 1L=2000 1{E XY 325kg M M
BRI EE | BENE EH
RO ZXH)Ls—k 400400 L=2000 1{EHY 1150kg m e
T-25 RCH!
EEERE B | BB EH
SKMBYIL—F P ZE 600600 ZHit T-25 m m
1824 68.6ke
BERE 2R | RENRIp EH
PLAwA— WMR-B 200-200-150 L=2000 1{&Y) M M
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i - iR A %t B #t C #t 1R F B (il &
ERfi ERfi B {f _
TGG24 BERE =R | BENSE EH
HEERTOYIB 150%120%600 1{ELY 26ke M A
ERWIE11 B2244P | FEE EE10A 2351P 2miE
RIS PR 1m%y e Bl BlEDE [ | T

BRI B E528P | BEER108S646P
FYR I RERELE H1200 C-GS3 1TmHy A A A |FH i




